MAT |27 Lec 24 T™w AP 17

Readl - Polar Locun, ™) v 0 TN
N ~ o
= 1 \[Q.L‘Ho" Re

‘9 oy © = ongfle belweenw Line

O— 2 an +Re-axis.

ovdean( > a\’ Q>0
orehan( ) YT, a<p, bzo
arq © = oretn() -7,  ace , beo
2, 0=0, b>0
—uz, A =0, b<o
wnded, a.;?o;o
Edef'b —g-gwm(q
Remammoes
= x3
eX= L % =1+x1‘? -\-—!‘i
n= o
Le\s Ca.urule. 6
® W o n W
X \)& \ x
€= Z‘ w! =~ Z w!



Giecmelcic e,xp(«;&bn

P



=otbi, then |Q=Cos X

= lwilslt =

avq( 1) = ardhan( 3 i

[ S

ﬂ
o

e



H 2-¢€° Inen 2% (ce 'e)
— T ez.e__ rz(CDS(ZO)-N SM(ZQ»

Can olso Imulhe\s au-(;
(re,e) (r(cosef.sue))



= ¥?(cosorism e)z’
< *(lr20-smB\t2cos O sinp T)
g0 dwis dexives Mue ideudities
Cos(20) = CxlO-sin?@
Sn(26) =2Co80 NN E

n %ehecak we have
H 2-¢¢®, \aew

Lz"r.r“ ((;o«.(ne)—r. Sn(neﬂ.

e —

Noke €™ -coex visiuX

e_ix = Cos(->)+1 S (~-x)

= CR X —i SMX



So
ix, ,-I%
e e -.-_(Cosxﬁ SuN)
+(Cos x -1 S

t:lCO$x

- hovggenesw
AN osdes ODES Wil
orstont coeflicients.




TWSe cre 'gictncs words woed o
descvibe 27 order 0DES

’ W S
.

4
]
o
]
e
|
g
e G

hew Solumg ot 43} oecles oDE
(eq- Vi Separution ok Uoricoles)

Ne Qet o genecal Solutbion
depending  on conghant,
Tws w bo Sy here 35 «
S'ms\e— dest‘& OL £ vee dovn

(we can coose Whadewy Value of
e covdlent G We WA,




o o+ '\M\’ML -\rcolu‘- \:\o\o\AM =/ /N

o
8%5'"""1* , 9)=0

e s @ wnitial Condiron
because there s 1 Consdant o
deksmmne.,

Q;\A odas ovLs -

e We wll alvays erpeck
ConS\omnds, SAony ore

% =C1"b1 b‘\ ‘\‘Cz‘&(’) -

o \vik, cil- valdwe rrob\ems need fo
coml wrh -!;M Corditieons -
For watonce

o ;
L

. —-— |
o




‘dz C.1 Cos C;S}n)& (%)

o qowrod  Shion o Yiy-o

SO v e 'wMio'l Cond.hons

we cun delecunvie Yot constonts:
W)= C, =1

Y'(x) =—CqySmx+CzCos X

B (o) =
gFa_-'{:,(_ %\u-\"m'ﬂ .

3'& Cosx — S v

p—



Ex Y=o s a 27 ordeS
ope ol tue lrd we wil
Cooidak .,

\nkeaeade Lwtce. o sde ')l‘,

A
' ¢

& Yl-y=0.
Let's Quiss Sone soledyang!

° 515') -‘-’—Qx =9 \5-‘.()(\ '='e.x

[/ =3 5-‘.’ b‘) =er¥
So B_" =%



\Vl *gw,-l— We, See Pna."
C1Y, ) and CA. L0

are botlh » \uﬁons foo

(They don't adlect Yo
dex'wedives 1)

The %erai edabon s dhere
LineaC Cowanction
= €% c?_e"‘ .

M— s —



TV s ge,n@mﬂg Jene:
13 9O cad YD) e
b Solubioms Lo
AR +BY+cYy = O
M\ So s
CLiY 1N+ G99

Pwoﬁz

YY) = CrYy &y + Ca4:0)
3'(7\) = Q1 ‘:); (63 "Cz(i’z( )

W)= Q87 GO+ 2%, (x)
So

Ay a4y



= A(C 1‘5‘4; (> 4G, ‘:S{L)s))
B (Q1 Yy 0+ Y, ( x\)
+C(C18; 60 +€2 4, ()




